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AR @amplifier ha . o =
stiage): A\m“am: three :-tagle-s for which T,y = 150 K (first stage), T.,= 350 K and Ty = 600 K (output
190 K. Th . power gain of the first stage is 10 and overall input effective NOise temperature is
- The available power gain of the second stage is .

A =

g 1 ® 14 © 16 (D) 18

L

2 The ; = . ;
root of equation x? - 4x — 9 = 0 using the bisection method in tour stages forx e [2.3]) is :
A) 2 (B) 26875 Q) 2750 (D) None of the above

3. For CT-LTI systems, consider 51 and S2 statements.
S1: There is no BIBO stable system with a pole in the right half of the complex plane.

§2: There is non<ausal and BIBO stable system with a pole in the nght half of the complex
plane.

State which one among the following is correct ?

¢A) Both S1and S2 are true (B) Both S1 and S2 are false

(C) Only S2is true (D) Only S1 is true

Which of the following are the components of WiMax ?
(A) SS/MS (B) ASN (C) BS

4.
(D) All the above

5. A combinational network has four inputs (A, B, C, D) and one outpul (F). The output is zero if and

only if three or four of the inputs are ‘0", The maxterm expansion of F is
(A) F=[]M(0,1.24.8) (B) F=¥m(0,1,23,456810.12) -
(C) F=[]M(7.11,13,14,15) (D) F=[]m(7,11,13,14.15)

Which is not an application of artificial intelligence ?

(A) Face recognition system (B) Chatbots
(C) LIDAR" (D) DBMS
Most of the weather radars use .
(A) circular polarization (B) linear polarization

(C) horizontal polarization (D) vertical polarization

TDMA standard of second-generation networks ?
(B) 1S-136 (C) AMPS (D) PDC



dell
Stamp


9, Maich ﬂ]elm in first column with the imhlhe 5ec0nd column.
(1) Indirec addressin® (X)  Amay implementation
(2)  Indexeq addressing (Y) Writing re-locatable code
(3) Base ster Addressing  (Z) Pﬂ!ﬁngm}r as parameter
A) M)-@),2-x-0
(B) (1)-(y), 2) - (&) ) - (X)
© M-@,@- M- (X)
(D) (1)-¢x), 2) - (£ () ={Y)

10. The handoff takes place in Mobile Assisted Handoff, when :
(A) The power received by the mobile station from other base
base station
(B) The channel allocated is not available
(C) The mobile station has no signal
(D)  All of the above

11.  Match the following :

Column 1 Column 2
(1)  Electron Microscope (W) Electron Gun
(2)  Oscilloscope (X) Condensing magnetic lens
(3) Galvanometric recorder (Y) Recording head
(4) Magnetic recorder (Z) Derive motor

(A M-W),2)-X.C)-M"-(@
(B) -2, Q- ) 3)-X),4)-W)
(© (1) -(X),(2)- W), 3)-(2) (4)-(Y)~
@ M-M2)-W).0C)-2)@#H-X

12. The disadvantages of an optical feedback trans imEgance receiver are !
(1) Increase in receiver input capacitance

(2) Increase in dark current t";

(3) Decrease in receiver input capacitance

(4) Decrease in dark current

(A) both (1) and (2) (8) both (2) and (3)
(O) both (3) and (4) (D) both (1) and (4)

13. Kepler's second law states
(A) Fha—ti=t—t, then A=Ay, (B) Et&+t'1=h+'t3;ﬂ1mﬁnu=-@¢.
(C) lft/ty=ty/ts, then Aiz= Ass. (D) None of the above

station is more than the serving
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ro
111 an Q&1 reference model, which layer provides physical address to cach m aching ?

14. .
physical laver  (B) - Data Link Layer {C)  Network Layer (D) Transport Layer

(A)

In the tollowing ¢ ireuit, assume the diodes are ideal, the induc tance is small, and 1#0 Which
Ly n"‘e

15, .
s s true o

of the tollowing statenic

l)

(A) Diconducls tor greater than 180%and D; conducts for greater than 180"
(B) I conducts for more than 180° and Dy conducts for 180°
(C) Dy conducts for 180° and D; conducts for 180°

D D conducts for greater than 180°and D; conducts for 180"

16. The minimum doppler shift is

(A) zero (B)  double of transmitter frequency

(C)  transmitter frequency (D)  half of transmitter frequency

17, In the following circuit, the power dissipation in the 2 0 resistor is :

A) 764 W (B) 525W 7 (C) 305.6W (D) 210.0W

ipelined processor’s performance deteriorates if :
The pipelined stages are with different delays
Consecutive instructions depend on each other
Hardware resources are shared by pipeline stages
All of the above
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erent ths to a
ool twar waves with ﬂ"ahmun:l.‘ travelling b}' diff P

i 1[1::1': ’:::htdlm:,?;”wh.n would be the phase mﬂ-m » between them :D’ 8/ a2

P PR

SHz, the
mode is 12 GH2,
20, If in a rectangglar waveguide for which a =2 1he cut-off frequency il
i ppular = e is
cut-off f cy for Thhi TROAESTE: : | 12 GHz
(A) 3 :::m ) IW5GHz (€ 6VGHZ ©
W1z
_ _ : compute DFT at any one
21.  Which option js true regarding the number of computations required to
. s ¢ -_’__________-I

value of 'k’ ? -

(A)  4N—2 real multiplications and 4N real ndﬂmonf‘. "'"—_”-*”

(B) 4N real multiplications and 4N —4 real additions .---""'H

(C) 4N =2 real multiplications and 4N + 2 real additions N

(D) 4N real multiplications and 4N —2 real additions» ~—

F D'
! the XOR of C and

22, Consider the 2-bit multiplexer (MUX) shown in the figure. The output to be

The value of A, and A are >

A !
E A;—-T 1 |
2 a— 2 ouTPUT
A,—-J 3 SELECT
- T_
C D N

(A) 0,0 (B) 1,0 © 01_ D) 11
23.  For the circuit shown below the output voltage is v, = 2.5V in response to input voltage v; =S V.

The finite open-loop differential gain of the Op-amp is :

N A
ok
vy 0 ‘f} Sop
L]
fes R LY V<o
¢ Fs AR pgz 30X
-~ - 3
> 2 e o ‘g
(A) 5x108 (B) 2x10¢ (O 205 D) 501
e —

L2/ ® P.T.Q
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29. Consider a discrete ¢ signal : 1_1_%':"‘% Tt
x[n] = 0.2x;[n - nol — 2 . L
A discrete u-am;g'c-rmed signal of x[n] is givenby,
x[n]=5x[n+n,] * K _
The value of constant K1 o -10

(A) -2 ) 10~ @ -5
es
ndent random variables X, X and Xa, have mean valu
lues of 50X Xa, Xa) =X + 3%z + 4XKa 15+ X
29 © 1 ©)

30. Three statistically indeP®
and X; = —2. The mean va
(A) 13 (B)

31. At which layer, SONET regenerators do function ?

(A) OSI model layer (B) Data link layer
(C) Physical layer (D) Network layer

32, The'ORG O instruction’s typeis:

(A) Pseudo instruction (B) l-hgh level instruction
(C) Machine instruction (D) Memory instruction

33. The one advantage of setting up a DMZ with two firewalls is that :
(A) You can control where traffic goes in three networks
(B) You can do stateful packet filtering
(C) You can do load balancing
(D) Improved network performance

34. The entropy of a message source generating four messages with probabilities 05, 0.25, 0.125 and |

0125 is . = gislogz) 10aslv) xo.tlef ] Q
(A) 1.0 bits/message (B) 332bits/ message = o S{0RSKL QW) ﬂ,m
4€) 1.75bits/ message (D) 593bits/ message  _ ,4%0.842€0 5
=\ x1
35, Transmission and reception both are done using the same antenna in radar.
(A) Monostatic (B) Bistatic ~ (C} Monopole (D) Dipole

36. A phase-controlled, single-phase, full-bridge converter is fed from a 230V, 50 Hz, AC source, The
fundamental frequency in Hz of the voltage: ﬁppleon the DCsideis

E01/C ? .-



37, typeof duplex communication is used by a mobile phone-
(A) Half (B)  Fuil
() Zero (D) Both (A) and (H)

38.  [Epitaxial growth is used in integrated circuit :
(A) Because it produces low parasitic capacitance
(B) Because it yields back-to-back isolating junctions
(C) To grow single crystal n-doped silicon on single-crystal p-type substr'®

(D) To grow selectively single-crystal p-doped silicon of one resistivity ON PYPe substrage o

different resistivity.

39. The frequency for satellite communication should be
(A) more than the critical frequency (B} less than the critical frequency

(C) equal to the critical frequency (D) none of the above

40. The subsystem responsible for radio transmission between mobile station and MSC is
(A) BSS (B) NS5 (© 055 (D) BSC

41. An AWGN channel has a bandwidth of 1 MHz, power of 10

of n/2=10 * W/Hz. The capacity of channel is : %
A) 2946 kbps (B) 21.43 kbps (C) 1647 kbps (D) 13.29 kbps
| : ¢ = (g
] -t ol
42.  Which of the following relations are true if x(n) is real ? L :
(A) X(w) = X(~o) B) X(@) = -X(-©) c 0K
() X'w) =X(w) (D) X'(w) =X(-w)/

43. Find the inverse Laplace transform of { - ):, i
s +4

(A) 1/4sin(2t) (B) t7/4sin(2t) (© [/4sin(2:)r (D) t/4sin(2t)

Consider the following operations :
() Passing 1(~n) through a digital filter H(z)
1) Time reversing the output of H(z)
ﬁﬂ} Time reversal of the input signal x(n)
V) Passing the result through H(:)

W and noise power spectral

€orrect order of operations to be performed in order to realize linear phase IIR filter

A
(A) (i), (i), (i), (iv) (B) (i), (i), (ii), (iv) () (), (iii), (v). () (D) () (i), (iv), ()




filter,

45. The below cipcuit 15 - RO
1 c
Vo
: = () Band StF
High pass~ (C) Low pass
(A)  Band pass (B) R £ d the sample® are
aist rate an rpbable:
46. An analog signal i pand-limited to 4 kHz, sampled at th;?:;ependmt and equally P F? Y A
quantized into 4 levels. The quantized levelsmassurr_led tz.laﬁon rate is f no?
If we transmit two quantized samples per second, the infor D) 6 bit /sec
(A) 2bitjsec  (B) 3bit/ee  (© 4bit/e .
il atooth connection 18
' a blu
47. Unauthorised access of information from a wireless device throug
called in
— O ' bluescoping e
(A) bluemaking (B) bluesnarfing  (C) bluestring ©) !
. ured by : "
48. The high voltage capacitor and high value inductance can be respectively meas o 2 :I
. = s
(A) Schering bridge, Hay's bridge P ® = o} \03(‘* ﬂ.ﬁ Ib“l ;a., g M
(B} Heaviside bridge, Anderson bridge Lo L\.J; ,.?‘" & wop 9¢ 17
(C) Hay's bridge, Schering bridge b 1 3’ 2Rr : -
. . W D s 7
(D) Anderson bridge, Heaviside bridge ¢ » 12 ) =\ - |
16" \oj) \
49. The core diameter of a multimode step-index fiber is 80 um and its relative index diffesenes '8
1.5%, operating at a wavelength of 0.85 ym. What will be the normalized haquw‘_flor the fiber if (
the core refractive index is 1.48 7 _— \e .
(A) 379 (B) 758 © 1516 (D) 3032 53
50. A TDM link has 20 signal channels and each channel is sampled at 7 kHz. If each sample is
represented by B bits and contains an additional bit for synchronization, find the total bit rate for
the TDM link ? Rp= Mk = 2o(Bn)xIns
(A) 69%5kbps  (B) 888kbps  (Q 1260kbps (D) 1209Kbps= Roxyxy
=7 0o
51. In an electrically small loops, the overall length of the loop is onetehti v "
wavelength.
(A) less than (B) equalto - (C) greater than (D) none ofﬁ;e above

E01/C i 4 = ¢ pﬁ' T
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1V to 3V while the Vs rem
‘p-\*'-“\ L& A

"n't['“
1= the value o ™

than -';%' what
(0 V> 20 m\

-
L change in collector voltage is
current change is restncted © be loss
(A) V,>30V (B) V<Y

53 Most common form of AU meters met with in evervda) Jomestie
are

(A) Mercury motor merer
(B) Commutator motr mweteTs
(Q Induction e angle pha<e
(D) Allot the above

;an

54 A devxe empiot
while
'.‘B.! HDLD 1= ach Vit

(A) INTA® acove
«© READY = a¥® ) None o the abomve

3} and MM = {0.0,1, l,i,‘"

-
T

sadine Mﬂ:ﬁgrﬂif-h;m={!.

55 Wﬁw&:ﬁiﬁ\twmc&
@ -4 1,11 ® {00l _1,22 L3
© ool o 003110
'&L’dfﬁ‘iﬁﬁiﬁﬁa_ﬂ____.ﬁdd.
D) scalar, vector =

56 Slectric Sux =2 !
ector, scal¥ O ocalar, scalar

ertor. vernar 7l

A
7. The @mbo of maamum displacement deviation tO0 yll scale jeviation of she instrument is knoj
as -
(A) Stabc sensitivity (B) Dynamic deviation
(C) Linearty (D) Precision of accuracy
The Asian Cellular System gtilizes one covering the Asi3 pacific area, an ared of 0
million square miles.
A) Garuda MEO satellite B) Garuda geosynchronous satellite
Garuda LEO sateflite (D) None of the abave
verse Laplace transform of =2
s+1
(D) e

i 1
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63.

A over TOMA includes: 14 '
. e

The advantages of D x5

i Jer 3 4
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8 . and 77 _
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© M and (4) 2™ e "
ot ata lengt
gth 724 bits 3

gth field in bytes (IPv4 packet with head€f len

The value of the rotal 1o
(D) 427

1200 bits)is ——
® 7 Q 107
. Itis V"

(A) 428
ecuit, three sources have fixed yalue; only It
gv If 1= 0.5
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I -
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The correct stePs for the OVPO fiber & ez d __\*j-";"._{'

form sinterin soot deposition, fiber drawing a7 ax
(A) Soo perform; PO : g root g fiber drawing 3;-“: = |
(B) Sool deposition: soot preforny pre /J{l ‘2 1-1*?1

soot perfo perfcm!l -
. seviarmes 1{!_’3)_ e

(© Fiber drawing
©)
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69.

70.

t of all values of z for which X(Z) attains a finite value ’
(B) Radius of divergence
(D) None of the mentioned

What 1s the se
{A) Radius of CONVETgence

Feastble solution

(C)
A Random variable X is aniformly distributed on the interval (=5, 13). A“%-ﬂln
Y=e : 1 formed. The value of E[Y] is: r___t\ —_ s
- \ — {1,
(A) 2967 (8) 066/ (© 13875 D 2 P
Below figure shows Fourier spectra of signal x(t). The bandwidth of x(t) is given 4 1
Determine Nyquist sampling rate far x*(1). \5 o :;'
e ‘nt!ct-wtl’dw S %
AX] v s
ppaa( -
$ '
z2r
/ G
"W

(A) 100 kHz (B) 150 kHz (C) 250 kHz U}) 400 kHz

The laver uses data compression to reduce the number of bits to be transmitted,

(A) presentation (B) network

(C) data link (D) application

There is an Ethernet port on the router were assigned an IP address of 172.16.112.1/25, Whiek

would be the valid subnet address for this host ?
(A) 172.16.112.0 (B) 172.16.96.0 be.

\‘
(C) 172.16.0.0 (D) 172.16.255.0 W

“

A 4 x 16 decoder may be constructed using 2 x 4 decoders. @
(A) Four (B) Five (C) Six (D) Three
A network Bridge device connects two or more networks to form a LLAN ne
(A) Single (B) Duplicate (C) Mult (2) None

Highest harmonic is 20 kHz in an analog data. The data has been digitized using@l evel

Find the rate at which digital signal generated ?

(A) 240 kbps (B) 120kbps - (C) 60 kbps (D) 40kbps

12 %hﬂliiu




74. In File Transfer prntnml. data transfer cannotbedonein___———

(A) stream mode (B) block mode
(C) compressed mode ©) Message mode

25. A pulse radar is UPL"‘““"F o lU‘GHz &qﬂ% has an antenna with a gain of ZBdB.' ;.md "
rransmitted power of 2 kW If des.rec! e d“ﬂﬁ target of cross section 12 m?, and the ol
detectablé sigtal s 90 dBm, the MaXimum range of the radar is :
(A) 8114m (B) =8m © 1256m (D) 4563m

26, A solencid has 4000 turns Over it With NSRS of 0,126 H. The eneBY stored in the magnete
field, when a current of 2 A flows in the solenoidyil] be : —;?“‘ il

5 (B) 8000) ot
(A) 0252] © o0504] (D) 400] —psi”

r1s driven by a chopper C&m{m supply voltage is 220 V and the duty cycle is

7. A DC series moto
sJitage applied to thempy

25%. Determine the pPC W

(A) 35V (8) (D) 220V

78. The orbital spacing ¥ — ywer satellites, SO adjacent satellite interference 18

considered nonexistent.
(A) 18° ® % (,;} o7 D)

79.  For an AM signal, the bandwidth is 10 KHz and the highest frequency component present is
%f-::lﬂ

705 kHz. The carrier frequency used for this AM signal is y :
(A) 695 kHz (B). 700 kHz (@ 705kHz (D) 710kHz Ba=SF
80. Consider a machine with 10 ns clock and it'takes 4 clock cycle per ALU instruction, 5 clock cycle-ff_-_?ff

per branch instruction, 6 clock cycle or jcﬁmn, There exists 40% ALU instruction, 20%

branch instruction and 40% memory instr
What is throughput of pipeline system if ¢

(A) 83 MIPS (B) 84 MIPS 85 MIPS (D) 86MIPS
"'L'__:" v \Y ‘31;‘

§1. 7,9,13,21,37.? %
(A) 58 (B) 63 69 (D) 72

Ao
82. If 'VEHEMIE_;\_H" is written as
language ?

(A) MOUNULER  (B) OURMNFUL MOURLUFN (D)

83. 1f'VEUROTIC can be written as ‘TICK  how can 'PQYCH
(A) TICCHOPSY  (B) JHPSY (@ TICHCOPSY (D)
FL WOy PTO.

E01/C



(A Water Tap (B) Ear: Face () Power - Battery (1Y) ENIM
| (i
ul
85, Bus Dnver then | of {l‘hi
(A1 Machine . Operator (B) War : Saldier XY 1\:— AA" ! a9
~
I Class - Student ©) Cook : Kitchen . % \\%
R b “;‘.;\5 : %
S8 ;,_; 5: 81 7y N 5
EVR | © 5 (D) 63
57. In the tollowing question, * stands for nY of the Mathematical signs at differeng Placeg, 1.
given as chowes under each question. Selecy the choice with the correct sequence of sim
when substituted makes the question as a COrrect €quation. >
2445y
(A) x+= (B) =xX+o () W . D) =++4
88. If - means ‘'minus, “-°, means 'muitiply', ‘+’ means ‘plus’ and "x' means f‘_ﬁ\?ide'_'
0x5+3_-2,3.9 Ton;n
(A) 21 (B) 33 {9_ 5 (D) 32
_ o
s ‘“tj l b I = L
89. 149:238::139:? /fﬁ/c;’ 19.‘;’ x ( >
- \ { A(: ﬁ.-"‘
e o 1
- » (A) 169 248 261 D) 2
‘1- & ) . @“ — © (@) 8
-éﬂujr--../—".-.’_“ \ 1
%0. MHZ, NIw, OKT, PNQ,? & v
(A) QQN (B) QRM (©) QRN__ (D) RRN

(Direction for questions 97 -
four and so form a group. F

93) : In the following, three alternativ

€S are same in a certain way out'of

ind the odd word that does not belong to the group.
91. (A) eulogies (B) extol (C) exalt (D) ignominious
92.  (A) Rubber (B)  Cinchona (© Cardamom (D) Chaik
93. (A) Hydrometer (B) Diameter (C) Barometer (D) Hygrometer
E01/C 14
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{Direction for Questjons M - 9%6) : |:l. l‘:b of
outl of which the words in four pairs bear 4

‘"‘th four pairs of words are given,
: questions, four "
Choose the pair in whic
the words are ‘““H!nlh' related. Nm relationship.
9. (A} Stale ; Prech (B Truth: Lie

g Teach learn (D) Slow : Stuggish

95. (A} lron: Axe (B) A © lewelry :Gold (D)  Shirt : Fabric
%. (A} Shovel : My (B) Srewdriver - Screw
(<) Hammer - Nail @ &.. : Pencil

(Direction for questions 97 - 99) : Each of the quea

elements may of may not have some llnh,_ ‘
diagrams at (a), (b}, (c), and (d). You have g ¢ '
which fit intg which of t

of the elements may fit into one of the
he diagrams given bejgy w |, ¥ 0P of elements in each of the questions
i ------L%Mmmhm‘:m.
. " o @ ()
\ o o
97. Anxiety, Intelligence, Strength : ! !
(A) (a) (B) () © (y © @
98.  Vegetables, Potato, Cabbage : !
A @) % g é (©) ® @
99, Week, Day, Year : S 4
(A) (3) (B)  (b) © () O} (& ll
100. Given below is a related pair of fi s (Unnumb, followed by four other pairs of ﬁgm'
numbered as 1, 2, 3, and 4. Dutofthe(m 'Mﬂtm&:fmawﬂﬂpmh
that in the un-numbered pair. The best ane 810 be selected from a group D of slightly close
choices, ' - ﬁ
Y | I . - i
athaolzaleleioe
1'.11 “.“ t!lt__._.i,,, ':-"l',n
1 2 3 '
(A) 1 (B) 2 3 ® 4
-
L | -
EO1/C “. -z = PY.0
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